H & 0l & AHS B Ml A

20248 =0ila eI S
SA: 3D
A S« Morze|(Letssyy/eey)
Celr sl AI2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1 4,411,518 3,762,340 649,178
S ¥ Tt (LS ST/ LBHT) 4,360,598 3,697,340 663,258
A 2tel 335,840 293,560 42,280
AE2te] 124,860 116,960 7,900
201 fer= 3| 103,360 100,460 2,900
01 At 2|l 92,160 86,960 5,200
OZEt=EH| 14,400,000 14,400
OZLA - BEMT Fo=
8,000,000& 8,000
O3 e ==& 3,000,000& 3,000
OMRNE HE & U2 89
13,000,000& 13,000
OFIINXIA S=ZA 9
20,000,000 20,000
O=EH| 2,400,000& 2,400
OJILHZHOI SHAIAEY 0128
330,000+ 122 3,960
OTUAARAY +
150,0002 x102 %162 24,000
OZNANSIE DS FH 4T
1,000,000& 1,000
OZLBAY 28 2,400,000& 2,400
02 S3=gHl 11,200 13,500 A2,300
o0sE2= & MM S 1,200,000 1,200
OHZHIRY MEBES 282
10,000,000 10,000
202 04l 7,000 12,000 25,000
01 =LHA LI 7,000 12,000 /5,000
o2 =F 0 7,000,000& 7,000
203 HR=AH] 3,000 3,000
03 A=A PR S| 3,000 3,000
OXlE € At & g4
2,000,000& 2,000
OF A2l & SFMat2e| R
1,000,000& 1,000
307 elztol & 1,500 1,500
12 2I2HOI R & = H| 1,500 1,500
OZ4LHBARIE A WSH|
1,500,000& 1,500
405 AtatE = 10,000 10,000
01 TR =S FSHI 10,000 10,000
o=gl| 7 10,000,000 10,000
Hietatel 210,980 176,600 34,380
201 er23 | 173,980 175,600 1,620
01 At2teltl 57,480 56,600 880




SA: 3D
A S« Morze|(Letssyy/eey)
Celr sl AI2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oget=ZH| 20,000,000 20,000
OgE31 23Hl S 10,000,000& 10,000
O3At S AHetze] Z208 A2
820,000& * 122 9,840
O] 7,000,000 7,000
O=322IRFIDI| SWR X 24=H]
2,800,000& 2,800
OSSZCIRFIDI| HM(2IH D], Z2&D]) 22+
] 7,840,000 7,840
02 s3=gHl 116,500 119,000 22,500
O38xtg 2= (EH) 100,000,000 100,000
ONSIAN & SZNLFES
2,500,000& 2,500
OXtEBAL =2 1,000,000& 1,000
OJIEt MASH= 1,000,000& 1,000
Oxtg= Il 6,000,000 6,000
O=Z2elRFIDI| EHD <20H
6,000,000& 6,000
207 ARl 1,000 1,000
01 = 1,000 1,000
O3A & E VAN D=8 EY
1,000,000& 1,000
405 KHaHE SH 36,000 36,000
01 TR ESF SHI 36,000 36,000
OSZZCIRFIDI| == &Hl & S/W WAl
36,000,000& 36,000
SFMa 2te| 39,220 67,300 /28,080
SFME 2e| 37,520 55,300 217,780
201 Ler=23 | 37,520 45,300 AT,780
01 AtR2te|Hl 35,720 40,000 4,280
CECHINE RSN
900,000 %102 9,000
OZEEI =8 900,000 %102 9,000
OZ3F MLt 2HIE =8
250,000& *82 2,000
O=EH| 8,000 x4 +5ed« 123 1,920
OZBFMLACIS| AR =
100, 0002 4 & +83] 3,200
OgRE Z=EI| 8X&g
5,000,000& 5,000
Os=Mare] A2F 2
1,600,000 1,600
O3F et FHIYR=
4,000,000 4,000
02 S22l 1,800 5,300 23,500
0382= £ HA 600,000 600




SN S
H: B 9 AR (LB DBHE /L)
Rl SFIMAE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| oxzsusl 1,200,008 1,200
AT A 1,700 12,000 A10,300
201 Yereely| 1,700 9,000 AT7,300
01 Al RF21H| 1,700 9,000 AT7,300
O04% S BYE L AN
1,200,002 1,200
0453 )| #48 500,0008 500
A2 3,985,538 3,336,480 649,058
BANSEE B2 1,913,000 1,404,000 509,000
201 Lere ] 22,000 23,000 A1,000
01 Al 22lb| 22,000 23,000 A1,000
OHAL IISHOI(18S) KA 24
22,000,002 22,000
307 212401 881,000 881,000
05 2l2telEta 881,000 881,000
OHAIZR| B (27,005, 224)
881,000,0002! 881,000
401 Al HI L2 0H] 1,010,000 500,000 510,000
01 Al&H 1,010,000 500,000 510,000
OAIEAI AIEE SXI 22| Y 24
100,000,000 100,000
OAIZAI DIRE S& B I
130,000,0002 130,000
OAIZAI IISHION (&, Z2) HH| I
100,000,002 100,000
OAIZAI JIH & H5E2 8
30,000,002 30,000
OANHSHI=XME +He 01™ 47
160,000,000 150,000
OAZA ELEHA U2 TN
100,000,002 100,000
OMESHI=XME Hiet D7
50,000,0002 50,000
ONSUHT=NUEH BZE| IH N
30,000,000 30,000
OOIRI0IBAZRINBHE =4 2
30,000, 0002 30,000
ONSUHT=N M 4 B4
30,000,002 30,000
OSHSHI=TWEH S w4
30,000,002 30,000
OSHSEN ANEES 28 24
50,000, 0002 50,000
025l S4 BTt Y =SEHBY Y
100,000,000 100,000
OALSIHE =T HE LHTH2 DA
60,000,000 60,000




SA: 3D
A 3 U AR (LHBDHE/UBHE)
el ARz EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHASHE=ZNME M2T DI
20,000,000& 20,000
MR 2=+ 2,034,538 1,902,480 132,058
201 er=23y| 1,900,538 1,742,480 167,058
01 AtR2t2|HI 151,120 137,480 13,640
OZAl BHEY ADE
15,000,000& 15,000
OFAH B 24,000,000} 24,000
OFAL 283 34 4,000,000 4,000
OFAL AZAIE J2otdE
8,000,000 8,000
OFA SZII(EN) FRE=
4,000,000 4,000
O8Il Rl &2l =8
16,000,000 16,000
O=taa "It =X 22l ==2
1,000,000& 1,000
OZZIHE N [HE OIMHIS
16,000,000 16,000
ONEA & S 2A 222
15,000,000& 15,000
OAIFEAL 15 SEO0l HMAH & &2 &Y
20,000,000 20,000
OANEA EBE 35 sima B4 2
22,000,000 22,000
OAIEAL SO 8H SBX=
4,680,000& 4,680
O] 1,440,000& 1,440
02 S3=gHl 1,758,418 1,605,000 153,418
ONLMHESHAL(SE2,ANEE, 3 HS)
913,418,000 913,418
OHA BBR3B(HIIR3)
500,000,000 500,000
OFEA B3RS (&ot+5)
45,000,000 45,000
OFA BSRSB(TAIHAR)
120,000,000 120,000
OEZNERE S () 1,000,000 1,000
osgHM 5 7 4,000,000& 4,000
OHPI= 0t + 1,600,000& 1,600
OJIEt 588= 1,600,000& 1,600
OFAL Alg= | 22|
115,600,000 115,600
OZAL AIE= RAI 2teltl
8,000,000& 8,000
OFAL 22 ZAH UiH] +=&H|
8,000,000& 8,000




SA: 3D
A S« Morze|(Letssyy/aey)
el ARz EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFA =2AQIZ DAl L 4
16,000,000 16,000
OFAAL NIt &I K2
1,600,000 1,600
ORBAIM R 2| B4
4,000,000 4,000
OSYSHE HOEX 24 &
4,000,000& 4,000
OFAL W= Bt 2E 4,000,000 4,000
OFAL 28 BHO [HE 2=
4,000,000 4,000
OFA Wue BE M| 24
4,000,000 4,000
Oxg==U = 1,000,000& 1,000
OxE FHl 9K L £2F 7
1,600,000& 1,600
206 M=Hl 75,000 75,000
01 MHZH| 75,000 75,000
OFA dHsE S0 2H WAl
15,000,000& 15,000
ods)| H-2E HY 5,000,000& 5,000
Od=g 2N, &M 2
10,000,000& 10,000
OJIAZHl MM+ 10,000,000 10,000
oA= 02N -+ 10,000,000& 10,000
OXIIIHH 7L 10,000,000 10,000
O 7 10,000,000 10,000
OFA M= HHE s 7Y
5,000,000& 5,000
405 AHaHE = 50,000 85,000 /35,000
01 It =S F = 50,000 85,000 /35,000
OZZHEM [HE AIRE HIS 7
30,000,000& 30,000
OFAIY 2tAH HIZ 728 € |Al 2
5,000,000& 5,000
OAMEA &I1& HetD| &R
15,000,000 15,000
SHs FA2 38,000 30,000 8,000
201 er2 3| 38,000 30,000 8,000
2 s5=34l 38,000 30,000 8,000
OsHS A Rl 2el 30,000,000& 30,000
OAdE SEIEE 23T
8,000,000& 8,000
AH2SZHI(2H D) (O1EH/IIEH 50,920 65,000 114,080
=3l 50,920 65,000 A 14,080
Jl=23H] 50,920 65,000 14,080




S 51
A HYE2LHHI(SIAHD) (OIEHIIE})
&l D122 (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
201 LB-2AH| 6,400 8,000 21,600
01 AtR2telt] 6,400 8,000 21,600
(©FR=leage:la] 6,400,000& 6,400
202 0idl 40,320 52,800 A 12,480
01 =LHO4 b 40,320 52,800 A12,480
O&2UHE=E NI 160,0002 x21H =123 40,320
203 AR F=&lY| 4,200 4,200
M EAM2HEHRFAY| 4,200 4,200
ORNZ2IYRFA| 350,000& =12 4,200




